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	Reason for change:
	1.  The MAC_E_Default should be placed ahead of RRC_Def1 otherwise any unwanted SI INDs from the UE would get handled as  CMAC?OTHERWISE in RRC_Def1 and this results in an INCONCLUSIVE testcase verdict
2. As part of the submission CR R5s140419 Change 1, it was suggested to place the assignment of the testcase variables tcv_HSUPA_Cfg.primE_RNTI and tcv_HS_Cfg.hRNTI before sending the Active Set Update message at Step 4, Step 9 and Step 14. However, this was not done in IWD 14wk36. During testing of this TC in the new IWD, it was found that values of the testcase variables tcv_HSUPA_Cfg.primE_RNTI and tcv_HS_Cfg.hRNTI are updated after the Active Set Update message is sent to the UE. Hence, what is sent to the UE and what is configured locally are different E-RNTI and H-RNTI values and this causes the testcase to FAIL.
3. The test step setting up Cell B as the non-serving cell at Step 14 of the prose is missing
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5. The test step ts_SS_Remove_SHO_UL16QAM_r7 tries to release the CMAC entity. This is incorrect.

6. At Step 19 of the prose, Cell A is the non-serving cell. As a part of the change of serving cell procedure to Cell B, HS-DSCH and E-AGCH are already released on Cell A. The test step ts_SS_Remove_SHO_r7 attempts to release HS-DSCH, E-AGCH again. It also tries to release E-RGCH which was not configured on Cell A as part of the last transition which took place at Step 9 of the Prose as well as releasing the MAC-es entity

	
	

	Summary of change:
	1.  Reversed the order of the call of the defaults
2.  Updated the new values of the Primary E-RNTI and H-RNTI in their respective test case config variables before sending the Active Set Update messages at Step 4 ,Step 9 and Step 14.
3. The test step ts_SS_HSU_SHO_CellSetupNonServConfig_r7 is called to setup Cell B as the non-serving cell at Step 14.
4. Indentation is corrected for local tree lt_ReceiveMeasReport_1b
5. Removed the test step ts_SS_UL_DPCH_ModifyHS_SRB_13_6_To_E_DCH_r7 which releases the CMAC entity.
6. Called test step ts_SS_E_DCH_ReleaseActTime_83413 and removed the line which releases HS-DSCH again.
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	Other comments:
	


1.1 Change 1
	Object name 
	tc_8_3_4_12

	Reason for change
	The MAC_E_Default should be placed ahead of RRC_Def1 otherwise any unwanted SI INDs from the UE would get handled as CMAC?OTHERWISE in RRC_Def1 and this results in an INCONCLUSIVE testcase verdict

	Summary of change
	Reversed the order of the call of the defaults

	Source of change
	

	Label
	WA#


Before change: 
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After change: 
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1.2 Change 2
	Object name 
	tc_8_3_4_12: lt_TestBody

	Reason for change
	1. As part of the submission CR R5s140419 Change 1, it was suggested to place the assignment of the testcase variables tcv_HSUPA_Cfg.primE_RNTI and tcv_HS_Cfg.hRNTI before sending the Active Set Update message at Step 4. However, this was not done in IWD 14wk36. However, during testing of the new IWD, it was found that values of the testcase variables tcv_HSUPA_Cfg.primE_RNTI and tcv_HS_Cfg.hRNTI are updated after the Active Set Update message is sent to the UE. Hence, what is sent to the UE and what is configured locally are different E-RNTI and H-RNTI values and this causes the testcase to FAIL.

2. The test step setting up Cell B as the non-serving cell at Step 14 of the prose is missing

	Summary of change
	1. Updated the new values of the Primary E-RNTI and H-RNTI in their respective test case config variables before sending the Active Set Update messages at Step 4 ,Step 9 and Step 14.
2. The test step ts_SS_HSU_SHO_CellSetupNonServConfig_r7 is called to setup Cell B as the non-serving cell at Step 14.

	Source of change
	

	Label
	WA#


Before change: 
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After change: 
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1.3 Change 3
	Object name 
	tc_8_3_4_12: lt_ReceiveMeasReport_1b

	Reason for change
	The indentation in the local tree lt_ReceiveMeasReport_1b is incorrect

	Summary of change
	Indentation is corrected for local tree lt_ReceiveMeasReport_1b

	Source of change
	

	Label
	WA#


Before change: 
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After change: 
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1.4 Change 4
	Object name 
	ts_SS_Remove_SHO_UL16QAM_r7

	Reason for change
	The test step ts_SS_Remove_SHO_UL16QAM_r7 tries to release the CMAC entity. This is incorrect.

	Summary of change
	Removed the test step ts_SS_UL_DPCH_ModifyHS_SRB_13_6_To_E_DCH_r7 which releases the CMAC entity

	Source of change
	

	Label
	WA#


Before change: 
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I
p_ActTime )
+ts_Add_HS_DPCCH (
p_NewCsllld,
p_HSDPA_Conig,
p_Rel7_Canfig,
p_ActTime
)

+5_55_UL_DPCH_ModiyHS_BRB_13_6_To_E_DCH_IT(
p_NewCsllid,
p_ActTime,
p_HSDPA_Config

+ts_85_E_DCH_ModifyCommon_r7_ULTBAM (
p_NewCslild,
tow_TmpCellinfo.node8_ld,
p_HSUPA_Config,
tov_TmpCellinfo isSeningCell,
p_Rel7_Contig,
c_fctivateCNF (p_ActTime )
)
+ts_SetCellCfy (p_NewCellld, cell_E_HS)





After change: 
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Test Step Id ts_85_Remove_SHO_UL16QAW_I7(p_OldCellld, p_NewCellld: INTEGER; p_ActTime - ActivationTime ; p_HEDPA_Config : HSDFA_ConfigType; p_HSUPA_Config : HSUPA_ConfigT
yie; n_Rel7_Canfig: Rel7_ConfigTyne )
Test Step Group Ref: RRC_16QAM_Steps!

Objestve

Defauts 85_Def

Comments

L] Behaviour Description II Gonstraint Ref G Comments

0 st Rmeocel

1 e ReconfgureeningCell

I_RmvoldCell

0 +ts_SetTmpCellinfo ( p_OldCellid )

1 [(tov_TmpCelllnfo.cellConfig = cell_E_HS)]

2 +ts_SS_E_DCH_ReleaseActTime_83412 (p_OldCellld, p_ActTime)

3 +t5_S5_RelHSPDSCH_ActTime (p_OldCellld, p_ActTime)

4 +ts_SS_StopRL_ActTime (p_OldCellld, tsc_UL_DPCH1, p_ActTime )

5 +ts_SS_StopRL_ActTime (p_OldCellid, tsc_F_DPCH, p_ActTime )

6 {tev_TmpCellinfo.DL_DPCH_SHO = FALSE, tey_TmpCellinfo.isServingCell = FAL
SE)

7 +ts_SetCellCfg (p_OldCellld, cell_NoDPCH)

1 [TRUE]

I_ReconfigureSeningCell

0 +ts_SefTmpCellinfo ( p_NewCellid )

1 (tey_TmpCelllnfo.isServingCell = TRUE, p_HSUPA_Config.configureRGCH = FALSE )

2 +ts_SaveCellinfo { p_NewCellld)





[image: image16.png]+ts_85_HS_DSCH_ConfigComman_r7(
p_NewCellid,
p_HSDPA_Conig,
p_Rel7_Canfig,
£_55_AddOrReconMAC_dFlow_2Flows(
ch_S5_MAC_hs_AddReconfQueue_DTCH1(336, tov_S5_MAChsPriority_DTC
HI),
©_55_MAC_hs_AddReconfQueus_DCCH),
©_TrLogMappingDL_MAC_HS_2Flows(
tsc_HS_DSCH_MAC_d_Flowld_DTCHI,
{cb_TrCH_LogicalChannelMapping_PS_DTCH_HS_DSCH(ise_DL_DTCH, tov
_HSUPA_Cfg mAC_LogicalChannelPriority_RE25, tsc_RB25)},
tsc_HS_DSCH_MAC_d_Flowld_DCCH,
{c_TrCH_LogicalChannelMapping_DCCH_HS_DSCH(isc_DL_DCCHI, 1, tsc_
REB1),
©_TrCH_LogicalChannelMapping_DCCH_HS_DSCH(isc_DL_DCCH?, 2,tsc_
RB2),
©_TrCH_LogicalChannelMapping_DCCH_HS_DSCH(isc_DL_DCCH3, 3,tsc_
RE3),
©_TrCH_LogicalChannelMapping_DCCH_HS_DSCH(isc_DL_DCCH, 4,tsc_
RB4)
It
p_ActTime )
+ts_Add_HS_DPCCH (
p_NewCsllld,
p_HSDPA_Conig,
p_Rel7_Canfig,
p_ActTime
)
+s_85_E_DCH_ModifyCommon_r7_UL150AM (
p_NewCsllld,
tov_TmpCellinfo.node8_ld,
p_HSUPA_Conig,
tov_TmpCellinfo isSeningCell,
p_Rel7_Contig,
c_fctivateCNF (p_ActTime )
)
+s_SetCellCfy { p_NewCellld, cell_E

Ha Y





1.5 Change 5
	Object name 
	ts_SS_Remove_SHO_r7

	Reason for change
	At Step 19 of the prose, Cell A is the non-serving cell. As a part of the change of serving cell procedure to Cell B, HS-DSCH and E-AGCH are already released on Cell A. The test step ts_SS_Remove_SHO_r7 attempts to release HS-DSCH, E-AGCH again. It also tries to release E-RGCH which was not configured on Cell A as part of the last transition which took place at Step 9 of the Prose as well as releasing the MAC-es entity

	Summary of change
	Called test step ts_SS_E_DCH_ReleaseActTime_83413 and removed the line which releases HS-DSCH again

	Source of change
	

	Label
	WA#


Before change: 
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Test Step Id: ts_S8_Remove_SHO_7(p_OldCellld : INTEGER ; p_ActTime : ActivationTime )
Tost Step Group Ref: RRC_16AM_Stepst

Objestve

Defauts 85_Def

Comments

(L[ Behaviour Description I Constraint Ref JCJI Comments
0 +1ts_SetTmpCellinfo ( p_OldCellid )

1 [(tov_TmpCelllnfo.cellConfig = cell_E_HS)]

2 +ts_SS_E_DCH_ReleaseActTime (p_OldCellld, p_ActTime)

3 +t5_S5_RelHSPDSCH_ActTime (p_OldCellld, p_ActTime)

4 +ts_SS_StopRL_ActTime (p_OldCellld, tsc_UL_DPCH1, p_ActTime )

5 +ts_SS_StopRL_ActTime (p_OldCellid, tsc_F_DPCH, p_ActTime )

6 (tev_TmpCellinfo.DL_DPCH_SHO = FALSE )

7 +ts_SetCellCfg (p_OldCellld, cell_NoDPCH)

1 [TRUE]





After change: 
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Test Step I ts_85_Remave_SHO_r7(n_OldCellld: INTEGER ; p_AcfTime : ActivationTime )

Test Step Group Ref. RRC_160AM_Steps/
Objective:

Defaults: 55_Def

Comments:

LT Behaviour Description

Canstraint Ref

Comments.

+t5_SefTmpCellnfo  p_OldCellid)
[(tov_TmpCellinfo.cellConfig = cell_E_HS)]

+15_88_E_DCH_ReleaseActTime_83413 (a_OIdCelll, p_ActTime)
[TRUE]

+15_S3_StopRL_AciTime (p_OldCelld, tsc_F_DPCH, p_AcTime )
(1ev_TmpCellinfo.DL_DPCH_SHO = FALSE )
+15_SetCellCy (p_OldCelld, cell NoDPCH)

I
0
1
2
3
4 +15_89_SlopRL_ActTime (p_OldCelld, tsc_UL_DPCH1, p_ActTime )
5
[
7
1 TRUE]

Wa#_3_4_12
Was_3_4_12





